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& X 4y B B fE F E = B kK F fE o owm A
5 R4 AR R | A [ REAn | 7V —J o [ BEEAER | W | mAn | BREH [ G | mREn
= # =[F 13 R2 1, 850 1,122[R% 31.11 | R1 1,064[07 17.11 W1 490
olF= # w | 40.10 S2 1,274 868[M% 61. 3 | S2 1, 589
3|7 # = EF|ME 52, 2 S2 1, 859 1,122 4. 1 | s2 1,232
4|7 & = bl 56, 3 S2 1,871 L1223 3. 1 | s2 1,176
5|19 # w3 | 61, 3 S2 1, 846 1,122 5. 3 | s2 1, 259
6|7 % = L 1M 53. 6 R3 1,911 L1223 7. 2 | R2 1, 391
T F#E ki 3. 7 S2 1,914 1,122|#13 36. 9 | S2 1,276
8|7 # = B [ 38. 11 S1 998 830[°% 8. 8 | s2 1,521|8 36. 3 Wi 161
9| # = L | 23. 2 R2 1,414 1,076 23.2 R2 1, 299
10|57 %8 = 7 %[0 44. 2 S2 1,811 1,055 6.11 | R2 925
11| e 38.11 S2 1,358 860|3 58. 3 | S2 1, 891
120 ® =g 59, 3 S2 1,851 1,122 8. 2 | s2 1,247
13| B m|E 48, 4 S2 1,441 963
1408 H M T|E 41, 3 S2 1,613 1,036[F 14. 3 | R2 1, 225
1514 wi|iE 38. 3 S2 1,354 886|1 61. 3 | S2 1,324
16|14 T ¥%|E 42. 3 S2 1,183 785
17|83t B Mg 41, 1 S2 1, 564 894[3F 4. 5 | s1 576
8l = il e0. 3 S2 1,537 903
194 &P 33.10 S1 838 69013 54.10 | R2 1, 407
20|/)5 I|#2 45. 3 S2 1,457 1,035(0% 55. 6 | S1 891
21|/ b FE|ME 55. 3 S2 1, 859 1,122 3. 7 | s2 1,437
221/l WE|BE 62, 3 S2 1,537 903[°% 5. 2 | s2 1,217
23|/ W 4k B4|BE 50. 3 S2 1, 461 907[F 12. 2 | R2 1,276
241/ Wb HE E|ME 37.11 S2 1, 468 951 2. 5 | R2 1,288
25|47 AW 36.11 S1 1,198 872 11. 3 | R2 1,466|B 43.12 W1 409
26|85 K 4 F|E 30. 3 S1 902 902(W% 56. 2 | S2 1,583
27(#F A B ZE(E 36 12 S1 1,074 745
28|1HF A T %|mE 39. 3 S1 987 777
29[ A PE (0P 48. 5 S2 1,441 963[3% 1. 3 | s2 1, 030
30|17 & fE|F 16.12 R2 1, 280 907
31 A ¥ mE|% 60. 3 S2 1,537 903[F 12. 7 | R2 1, 269
32|F A|E 250 1 | R2 1, 499 896[F 6. 2 | S2 1, 226
33| (g 45, 3 S1 1,216 807[F 3. 3| s2 1,533
34| B | 23. 3 R2 1, 362 896| 59. 3 | S2 1,324
35| BF Ry RYME 50. 1 S2 1,610 903[3F 9. 2 | s2 1,262
36|52 F|HE 37. 3 S2 1, 351 896[F 4. 2 | s2 1, 255
3712 F FE|EE 52. 2 S2 1,852 1,122 5. 2 | s2 1,231
38|& F & F|WE 30. 3 S2 1,058 63307 57. 3 | s2 1, 589
9|2 F T | 43. 2 S2 1,715 1,030 7. 9 | R2 1,562
4012 K F OJR|BE 43.12 S2 1, 158 891
41|= S 11. 3 R2 1,511 907|M 54. 9 | S2 1, 404
208 [ 4 1M 4111 S2 1,578 1,080 2. 5 | s2 1,106
43(E [ 4t [E(eE 47, 4 S2 1,415 935|5% 10. 3 | R2 1,276
4|8 [ T ¥|WE 55, 3 S2 1,473 903
45|14 5 BB 53. 3 S2 1,531 903
46|7% Al 36. 11 S2 990 7753 2. 3 | s2 1, 795
175 L|FE 46. 3 S2 1,434 977 B 27, 1 W1 397
W 50. 8 S2 1,461 935 W 18. 6 W1 599
18|55 GH| I 42. 12 S2 1,238 795 B 29. 3 W1 564
4910 H JR|BF 36, 2 S2 1,278 7T 1. 3 ] s2 1,267
50|k W JE ¢ F|HE 51, 7 R2 1, 890 1, 122|F 5 | s2 1, 267
51k W R K
52| B FIE 40. 3 S2 1, 067 642[3% 10. 3 | R2 1,267
53|38 ZH 5 By 46. 3 S2 1,438 907 3. 7 | s2 1,224
54|08 ZH 1§ W[ 37.11 S2 1,008 739|5F 13. 9 | R2 1, 448
55( 3R ZH|WE 40. 3 R2 1,262 804 9. 2 | s2 1,330
56| B TP 35. 3 S2 1,274 766|1 63. 3 | S2 1,267
57|H B F|ME 52. 3 S2 1,584 903[°% 3. 6 | S2 1,267
58| 4% HR|WE 48. 5 S2 1,471 863
59|  #K  FE|W 53. 3 S2 1,583 903[F 27. 1 | R2 1, 200
60|/ AR IR|BH 47. 3 S2 1,503 963
61| < & iF f&|H 56. 2 S1 1, 583 9073 23.12 | R2 1,199
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